[image: image2.jpg]


8


RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


	ID
	Description
	Cat. No.
	Pcs.

	1
	Steel insert M10
	X1
	1

	2
	Bolt M12x60x1,25mm
	916
	1

	3
	Bolt M10x55mm
	1002
	1

	4
	Steel adapter H55-P
	727
	1

	5
	Tape 3M
	
	1

	6
	Cover plate – P
	729
	1

	7
	Bolt M5x6
	1046
	1

	8
	Plastic panel –P
	731
	1


H55
Honda CBR 1000rr ´2017-
	
	Kit left side:
	
	
	
	
	Kit right side:
	
	
	


	ID
	Description
	Cat. No.
	Pcs.

	1
	Steel insert M10
	X1
	1

	2
	Bolt M12x55x1,25mm
	975
	1

	3
	Bolt M10x55mm
	1002
	1

	4
	Steel adapter H55-L
	726
	1

	5
	Tape 3M
	-
	1

	6
	Cover plate – L
	728
	1

	7
	Bolt M5x6
	1046
	1

	8
	Plastic panel –L
	730
	1


Mounting instructions – left side:
1. Remove the original plastic from side and M12 bolt from the motorcycle frame.

2. Attach the 3M tape (ID.5) to the point where motorcycle frame meets ID.2 blt and tighten the steel adapter towards the motorcycle frame.

3. Replace the original black plastic with plastic panel (ID.8) at the rear hood.

4. Check that everything is in place and proceed to return the side plastic to its place.

5. Use the ID.7 bolt to fit the cover plate (ID.6) onto the adapter.
6. Push in the steel insert (ID.1) together with ID.3 bolt.

7. Mount the full assembly into the adapter thread.
Mounting instructions – right side: 
1. Remove the original side plastic and M12 bolt from the motorcycle frame

2. Attach the 3M tape (ID.5) to the point where motorcycle frame meets ID.2 blt and tighten the steel adapter towards the motorcycle frame.

3. Replace the original black plastic with plastic panel (ID.8) at the rear hood.

4. Check that everything is in place and proceed to return the side plastic to its place.

5. Use the ID.7 bolt to fit the cover plate (ID.6) onto the adapter.

6. Push the steel insert (ID.1) into the protector together with ID.3 bolt.

7. Mount the full assembly into the adapter thread.
Note  - we recommend using medium strenght glue (blue color) for threads of all screws.

[image: image3.jpg]


 [image: image1.jpg]



[image: image4.jpg]


[image: image5.png]




1

